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In Kannada,

SECTION - A

a) State any two significances of cost of capital.
WOBY dzgd D OORRTT3NR QTR BB
b) What do you mean by risk analysis ? X
B0 DF e UHESBIY 203000,
c) Mention any four types of dividends.
CIRR)TITTR SRIOVReTove eramoén’e;&g{ VeI Dy,
d) Write the difference between merger and acquisition.
20T T2 RO LEIT TBODT 3)63325?3563.2{ TOD.
e) What is agency relationship?
&ﬁ@v FO20TT D0TTed 9

f) Thanvi Ltd. has distributed dividend of Rs. 30 on each equity shares of
Rs. 10. The current market price of equity share is Rs. 70. Find the cost of
equity.

0, O 10 Sn. 1Y 7,8 8383 [ &deed 30 Tr. 1Y eem0
mmsg ReoT TR0 TRTVT
FOTOGRCWD.

5&5’% N3OAT.
éé; 3 70 Tn. <AL, mmszs WOBDY dz;’dd:%

g) State any four social and environmental issues.
QORTYTTTR RISVl QB JOXT xmzﬁéﬁej@{ PR,
h) What is Leverage buyout ?
:dai 00D Q0TBeRd 9
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SECTION - B

T

e

(3%4=12)

Answer any 3 questions. Each question carries 4 marks.
TSNS cdnY)momde 3 BN evZor. B, B3 4 SOBNO.

2. Manohar Co. issues Rs. 5,00,000, 8% preference shares Rs. 10

the cost of preference share capital if it is issued.
i) Discount at 5%, ii) Premium at 5%,
SIRETO® FOTIOI . 5,00,000, 3¢5 dn. 10 38% Clakcievs ReTONTT, BORTIVT.
33 FFFOW DTRITE DIOATTS 523,303 Hedd 20T BB FORERE0:

i) 5% d03RcW0HO , i) 5% &, €003005)

3. IF investment proposal costs Rs. 45,00,000 and risk free is 5%.

each. Calculate

Calculate

Present value under certainty equivalent technique.
Year Expected Cash | Certainty Equivalent Coefficient
1 10,00,000 0.90
2 15,00,000 0.85
3 20,00,000 0.82
4 25,00,000 0.78

BREE T TS e Te. 45,00,000 SNTT T03Y 5% $me03d BITFNTY, 83
BRRT 08,3 SBODE, BT SRO,F, S8H08.

DA QOEEZ JNTD LI TEIE NOT0T
1 10,00,000 0.90
] 2 15,00,000 0.85
3 20,00,000 0.82
4 25,00,000 0.78

4. Tenali Lid. acquires Beerabal Ltd., and the following information is as follows.

Calculate Exchange ratio under
b) MPS Method

a) EPS Method

Tenali Ltd. Beerabal Lid.
Number of equity shares 8,00,000 6,00,000
Earnings after tax in Rs. 40,00,000 18,00,000
Market value per share in Rs. 42 28
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(5] o,

I

- STO DoLITEE Wegwest Ol

[mmsj RETONG :3035; 8,00,000 6,00,000 w\
[ S0t Se803 s o, Red, 40,00,000 18,00,000 |
|58 Zeos =8 wPe, de. HeY 42 28 5

5. Explain any four combinations i
: nea ns in mergers.
QOET B, 38,0300 ST TOT3R DO, FOOSRCRBNTSY, LBOR.

6. Write a brief note on inte

grated report in corporate governance.

:aoo;—’%% @a@zwqu@ DT 3H02) xoia*j £33 WTOWD.

SECTION - C

Answer any 3 questions. Each i [
ons. question carries 12 marks.
FENT CCRR)TOT[TN 3 %‘%ﬁ@ﬁ YVZOR. &S a;éqﬁ 12 503nL0.

7. Raghuvamsha Company Ltd. has gi i ' '

: : given the following possible cash inflows
fﬁr two Project M and N out of which one they wish to undertake together with
their associative probabilities both the project will require an investment of
Rs. 5,000. Which project riskier by adapting Standard Deviation Method ?

(3x12=36)

Possible Project M Project N B
Events Cash flow Probability | Cash flow \ Probabilityj
A 10,000 0.1 26,000 | 01 |

B 12,000 0.2 22000 | 015 |

C 14,000 0.4 18000 | 05 |

D 16,000 0.2 14,000 | 045 |

E 18,000 0.1 10,000 | 04 |

D0e03 F0TR DI QTR 3ReEINTIT M =020
SN LFTORNTDY QeRT. SWNTE, LOTI), ¥
NG FTOOIT FOLRA
@ﬁ%&mgd. 3, BT o

¢5550030500 03N ?

eOIBNB RN 33 ATTBR

= §

NRoR 83 BINT BOYIT,
me{)@o 2030R0TIT W2
3RewIR 3. 5,000 TRETAD
2BOT POTDI, SYBRZRYOT WIRVT 03393 O3RETIO30

BouT, 03pewss M o3mews N B
Peasned o aon) | RowEacehd | sndwom | Rowmaess |
A 10,000 0.1 26,000 01 |
B 12,000 0.2 22,000 015 |
C 14,000 0.4 18,000 0.5
D 16,000 0.2 14,000 015 |
E 18,000 0.1 10,000 01 27
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8. From the following capital structure of the company calculate oV

10.

11.

L UL

erall cost of

capital using
A) Book Value

B) Market Value
Specific cost (%

Sources Book value | Market value
Debentures 5,00,000 3.80,000 10
Preference shares 2,00,000 1,10,000 8
Equity shares 10,00,000 | 9,00,000 12
Retained earnings 2,00,000 3,00,000 13
BODIOID B3 FHNT 2WOTWeo0% TLITICID0TT
A) DT —"w%e)cs
B) =505t BIPVTIT, WFATLHOTD (Mol ovpirio] uw%d oY ki
ToROND FYe IR, | BRTHFE FRY,
To® W, N 5,00,000 3,80,000
eﬁcjaszm RWCTONGO 2,00,000 1,10,000
FOTINT, HETIMED 10,00,000 9,00,000
VPRI NPT 2,00,000 3,00,000
pany Ltd., determine

From the following information relating to Madhu Com
market price of shares under Gordon’s Model.
Earning per share Rs. 30
Cost of Capital 16%
Dividend payout ratio a) 70%
Return on investment 20%.
ST FOTR DDA BOLIOHAT B3 FHNT 379
mwé% 233000, QL OA.

3,8 Weon neg de. 30

WoBRYE F25,16%

€79eT00T TP LITITT a) 70% b) 50%
Br&203 #3903 oyl 20%.

b) 50% c) 40%

SON00T, RRCTF SHTO03D RTINS

C) 40%

gers ? Explain the reasons for merger and acquisition

What do you mean by mer
30T rsplateTatasl @dsaﬁ@éaiaq NWOA.

DAL 0TI ? DT
Explain the ethical issues in financial management.
BT DREBRODYT 3,98 m’aﬁa:%ﬁ@sﬂgt NTWOA.




